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dodobozOoOOOoOoOoOoOoOoOooooooooooooooooooooon
ooooooooooo RO eO O
() 000D00000000000
z, Yye R = x4y, zy € R
(2) OODOoOoDOoOoUoOooOoUOoDoood
(z+y)+z=2+y+z) (z,ycR)
(3 bObUoOoooUoooUooood
r+y=y+z (z,y€R)
(4 000000000
r+0=0+z=z (x€R)
(5) € RODDOOOO0O0O —2€ ROOODOODO
r+(—x)=(—z)+x=0
(6) DODUODUDODOOOODODODOOOOOOO
(r+y)z=xz+yz, x(y+z2)=xy+axz
O00O00O00ROO(ring)00000000000DO000O000O0ODOOOOOO
0000000000 02000000000)
OROOOOO
(7) 000000000 zy=yx (z,y € R)
(8) 000 10000z-1=1-2=2 (z€R)
0000000000 (commutative ring) 1000000

O ROOOOOOOOO ROOzO0000000 RODOyOOOOzy=000
Oyr=000000020 ROOODO (zero divisor) DO DO OO0ODOOyOOO
00000 000020000000000000
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(aq, ay, -+, a,) ={rja; +roag + - +r,a,|ry, ro, -+, 7, € R}
oo ooooooooooooooobooooon (al, Ay, vy a,) O
aj, ay, =+, ¢, 00000000 (generated)J0 0000000 a,(k=1, 2, -, n)
0000 (generator)D 0000000000 (0D0)00000000O0O0O0OOO
0000 (principal ideal)D 00 000000000000 00000O0O0OOOO
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00000ZO0O0O0OO000000000000000000 (ay), (ay), -, (a,)0
oodga, ay, -+, a, 000000000000 O0O000O0O

gboooooboboboboobobbooboboobooooobbobooob o
O00000o00ooooooogn
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0000000o000Oooooo0oO0O0 ROODOOO PO ()OO ROOOOO
abe POOD “aePO00O beP” (a, beR)
O0000000POODOOODO (prime ideal)D 0000 ROODO pOOOOOO
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00000000QOD0O0O0O000RO(00D00OOO0OODO0O0OD) 000000
gboobooobooobooboooobobooooobboobooboooboooan
gooboooobooobobooon

000 O ROOODOOIODO0OOO0OOODOI=RO0ODOO

(0D0) IDDDDw00D0D00D00wO0D0Dw 'eRODOODDODOOOOO
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g(x) = by + bz + byw? + -+ + ba™ (b; € R)
oob0dfd:>n0000 a,=0, 7>m0O000 ijODDDDDDDDDD

737



M
f(@)+g(x) = 3 (ay +b)z" (M = max{n, m})
k=0
n+m &
f(@)g(x) = > ¢a® ¢ =agb, +a.b,_; + - +a.b,
k=0
0000000 (ROODDOOOODOO)DDOO0O0O0OO0OO0OO0O0O00O000O0 (z000
O00)RODOOODODO (polynomial ring) 0000 R[z]0 000

Z, Z[z]00000000
0000000ZOOOOOOO0OO0OO0OO0O0O000000000000000 (the
ring of rational integers) D 00 00 M 00 M O000O0000O0O0O00O(0)O0O
000000000000 ooooooooooooooooooooooooon
O0o0o00o0o00ooooooooooooooon

000 O0d0o Z0000000000ooood
(00) zOOOOOOOOO IOOOI0O0O00O00C0OO0O00O00 «0O0O0OO07I00
OoodooOosOobOOoODOOOO0OOOn
b=ag+r, 0Sr<a
goooot g, r000o0ooooonooonoooooon

r=b—aqel
O0000eO0 JOO00OO00OODOODOOODOOOO
r=20
oooooooo
b=aq € (a)
0000000000000 IC(e)000D0U0eelIlD (e)cIODDOOODO
I=(a) (0Doooo)

ogoobooobobbgoooooobbboooboooooboboooooobooDo
0000000000000000000000MO00@Oo0)0ooooooag
ubmoboooobooooooooobooo

000 0 KOOOOODOOOOO Kz]OODDODOOQODODOoOOoooooo

(00) Kz]0OOOODOODOOO IODO/00000000000000000 A(x)
0000 A(x)0000000 0000000 0000 KOO(OD)ooOooooa
00000000000 Ax)D00000OO0OO0DOOOOOUOOUOOIOOOO
000 B(z)D0O00

B(z) = A(z)Q(z) + R(x), degR(z) < deg A(x)



0000000 Q(z), Rx) € K20 (0000)0000000000000000
0000000 degDOO0ODOODODDOODODOOOODODOODOO
R(z) = B(z) — A(2)Q(x) € K[z]
O00O00OA(x)D I0000 00U0O0O0O0O0OOO0OODOODOOOO
R(z)=0 (000D 00R(x)D00ODO0O 0)
ugoooooa
B(z) = A(2)Q(x) oo I =(A(x)) (Doooao)

gooboooboooobobbooobboooooooobboobobooooooon
gbooboooooooboobooooooooo

000 0O b000000O0OOOOOOOO
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gooood m, n0oooonoag

(00) DOD0O00ZzOoOOOOOOOOOOOOOO
(a, b):(d)
000000 dJd000000ae(d), be (d)OO
a=rd, b=sd (r, s€ Z)
oboddbe0dbobbobbOOOODn d=4+10000
(a, b):(l)
O0O01€(a, b)00000
am+bn =1
000000 m, n000000 (0ooon)
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(00) DDO000 Kz]DOOOOOOOODODOOO0OO0O
(A(z), B(z)) = (D(z))
D0000 KOOOOO D(x)000000 A(x)e(D(z)), B(z)e(D(x))00
A(z) = R(z)D(z), B(z) = S(z)D(z) (R(z), S(z) € Klz])
D00000 A(z)0 B(x)0 1000000000000000000000O0
D(z)=keK, k#0
0000k 'eKDOO
(A(z), B(z)) = (k) = (1)
O001e(A(z), B(z))DDODOO



A(x)M(x) + B(z)N(x) =1
00000 KOODOOO M(z), N(z)DODODOOD (Coooo)

00000ZO0OOOODODO0OO00000000000000000000000
0000000000000000000000 ROOO0OO00000000000
00000000000000000000000000000000000Op0
000000Z[(z0000 (p)00000000000
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p000 < (p)0ZOOOOOO
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(00) DO0O00OOOOO00O000O0O000000
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a=b(modn) <= nla—">
gobdod =00bu0obb =0b00bb0boo0bbo0b0 =00b0ooboo
00000000000 nO00OO0O0D0O00O0 (residue class modulo n) 00000
gboodobbobobobbobou zoobooooooooboooboobooooo
a =« (mod n), b=p (mod n)
~— nla—a«a, n|b—p
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gobbodoodooogoboobboooboboboobobobbooboooo
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(00) DOOO00O00O00O000000000000000(@O)0OOOo(@O)
0000000000000
00«000000@000000000@0Z/pZ0 0000000000000

a Z 0 (mod p)
Ub0bod0b0UOeUd pdobbOobobbODbDDOn
ab+pg=1
oodoodos g0obooooa
ab =1 (mod p) soab=1
O00ooob00aeD Z/pZ0O OOOUODOOODOODO (Dooon)

ugn
f(z) =ag+a1x + ayx® + -+ + apa™ € Z[a]

000000000 ged(ag, ay, -+, ap)0 f(z)0 content 0000 f(x) O content [
1000000 f(x) 0 primitive 0 0 00000 primitive D OO0 M O0O00OO
Ubogoobboobooooooooboobbb0o0oob0o0oobUOn primitive
00000000000 Ocontent 0 (000000000 D0)0000000O00O0

00000000 f(-)DOOOO0OO0O0OOO0OOOO f(xryQODDOODOO 10000
gobobooboobooboboobobobooobbboooooobooboobo
goooobobooobobooboboooooooobbobobobooboooOoobD ROOOO
gobobotboooboooobbobuoooboboobooooooobbon
000000 ROODOOOROO(OD)aeOdO0O (irreducible)J00000a0 00
O000000000a=bc (b, ce R)UOO OO0 cOOODOODODOODOOOO

Z[zZ00OODOOOO(OD0)0 £1000000Z[z00000000000DO0000
gobboobooooboboboooogbg primitived 0000000

000 pO00000O0 Z#0OOO

f(x) =ay+ a1 + agz® + - + apa™,

g(x) = by + byw + byx?® + - -+ + byz™
0000 p000000D00000 f(z)g(z)0 p0 0000000
(0O) f(z), g(x) 0000 pO000C0O00O00O0O0OOOOD pO00O0000
000000000000000 p000000DO f(zxOOOODOO e, pO0O
00000 gz 0000000500000 f(z)g(z)0 2000
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000 f(x)=ag+ax+ayr®+---+a,2"0 Zz]0 00000000 0Q[z]00
0ooooooon
(00) f(z)000000D0 g(z), h(z) € Qz]00OO

f(x) = g(@)h(z)
000000000g(z), h(zx)D0D0(OO000000D00D0) 000000000
oooooos cOODOOod

b-g(z), c-h(r) € Z[z]O O OO primitive
000000oooo(@oo)oa

be f(z) = {b-g(x)}{c-h(x)} O primitive

o000
be = +1 S b=%41, c=+1 (0DODO)
oooooooQ
9(x), h(z) € Zlx]
00000 f(z)0 Zz)l0 00000000000
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(coooo)

gooooo
I0 Zzx)0OOODOOOO/0000000000O0(QO0O0O0D)0D000000
ooboobobo o ,000bd
a, be JOOODODODODO IOODOOOOO
flz)=az"+---, g(x)=bax™+---
000000 I00000000000nRn2m0O000
fl@) —a"mg(x) = (a = b)a" +--- €1,
n<m0O000
2™ " f(x) —g(z) =(a—b)am+--- €1
ooog,0o0o0boog
a—be
gooo
ac ,00000«000000000TIO0O0OO f(zx)=az"+---00000
ceZOOOOOIO Zz|OOODODOOOOOO
cf(x)=caa™ +--- €1
JL00oggno
ca € Jq
goobobLh0zOOOoooooooooooooo
Ji = (ay)
ooddde, 000000 ,0000000 000000000 7000000

787



000000000 oooooDo0n fi(x) 00000000 ;0000
gooo

I'=(f())
0ddboodoobooooooooooo

12 (fi(@)
oo0booooooooooJ 0000000 /00000000 oobooooboooo
00 0000000000000 0000000000 f(»)0 fi(z)0D0O
ooooooo

f(@) = fi(@) g (x) +ri(x), degr(z) < dy = deg fi(x)
000 ¢(x), ry(z) € Z[z]0 000000000 deg00DDOODOOOODODOO
I0000o0o0ooogon

r(@) = f(z) - filx)ay(x) €
O000d =degf,00000O

r(z)=0000 r(z)0000000 00000000000
oo0ooooooon
DDDDIDDDDd1DDDDDDDD((fl)QIDDDDDDD)DDDDDDD
oooooo Jo0ooooJ;000000ad

J2 = (ay)
000000 ae00000 a0 000O000O0DOO I0D0O0O0O00O0O0OOODOOO
O fo(x)0000 fo(x)D000 d,00000

le(al)gjgz(a2), dy > do
oooo
I=(fi(z), fo(x)) 00000000000 ZODOOOO J3=(ay) 000000
0« 0000000000 f4(z)00000000000DO00000DOO00O00DGOOO0
oo o000 o000 nOoQogo

I:(fl(x)7 f2(x)7 ) fn(x))a (al) 2(&2 22 (an)a

dy = deg fi(x) > dy = deg fo(x) > -+ > d,, = deg fn(x)
gooo (Doooooooo)
goooon

Z[z)0OODDOOOO POOOODOODOO
P=(fi(x), fo(x), -+, ful@)),
0000 fu(z) =aa® +(d, —1000) € Z[z],
(a) 2 (ag) 2 -+ 2 (a,), di>dy > >dy
000000POOODOOOO0OOODO0OOOOOOOODOOOO0O0 f(x)0

goooooo



f(z)000(00000)000 (primitive1)000 00
bbb ooobbbobobbooooooooo
fi(z)O content 0 ¢, 00000
file) =cig1(z) (e € Z, gy(z) € Z[z]O primitive)
000000 POOOOODOOOOOOO fi(z)ePODO
o€ P OO0 g(x)eP

cqePO00 ¢g€(a,) C(a)0000000,0 f1(x) 00000000000

¢qla; 0000 (aq) C () 00000
(1) = (an) = (ay) oo P=(ay)

DDDDDDDDDalzst(S,tGZ)DDDDDP:(al)DDDDDDDDDDDD
s€(a,)000 te(aq)0000a (000 —a)0000000

g(z) e PO0DDDOO0OO (a)000000 ¢,(x)0000000 +a,0000
O00f(z)=g,(x) 000000 f,(z)0 Zz0000000000000 Oe, 000
DDDDDDDDDDDDDDDDDDfl(m)DDDDDDDDDDfl(:L’)DDD(:tl)
gooooooo 1o f1($)DDDDDDDDDDDDDDDDDfl(:L')D(primitivel]
)yDOoOoOoOoOoo0oO0oooooooooo (ak)DDDDDDD ;0000000 f,(x)0
odooooboooooon

odooooooooodg PO

P=(fi(x), folz), -, fu(2)),
fol@) =az% + (d, —1000)0
O0OO000)000 (primitive 0 )00 0000
(a1) 2 (ay) 2 - 2 (a,), di>dy > >dy
00000000000 oobbooooogoobobooonoon
000d >d, 2100000000000 f(x)0 fz(m)DDDDDDD(primitive
0)0000000000000000Q[z000000000000000000
0o0odoooooooooooboogn
fi(@)gi(z) + fo(z)ge(z) =1
0000 ¢g(z), go(x) eQx0 00000
000000000 b0000 bg(z), bgy(z) D00000000D
fi(@)-bgy (x) + fo(x)-bgy(z) = b (bgy(x), bgs(2) € Zx])
0000000 be (f,(z), fo(z)) cPOODD
dn=0, a,=fpo(z) 000 (n23)
goog
(ay) 2 (ag) 2 (an)
00000000000 a,0000 (ap) =2Z0000 (a)) 2 (a) 10000000
oood
n=1000 dy>dy=0



000000,=10000 (1)000 (2)0000d, >dy,=0000
P=(fi(z), p) (pOODO)
0000000000 f(zx)000000000000 g(z), h(z) € Zx)DOOO
fi(@) = g(x)h(z) (mod p)
0000000000g(z)0 h(z)0 P=(f,(z), 0000000 POOOOOO
00000000000000 ()0 Z/pZ000000000d; >dy,=0000
0 (3)0000000000000000000000

0oo(1),(2),(300000000000000000000(@CO000)0000
() 00000000 p000000Z[z000000000000000

(2) Z[z)0000 f(z)]g@)h(z), f(2)fg(z) (9(x), h(z) € Z[z])DOOODOOD
g(x) 000000 0f(x)0 primitive 0000000 f(z)|h(x) 00000 Og(x)0
(10000)00000D0O00ooOoOooo
000000 f(z)0 Q0000000000000 f(z)0 ¢(z)0 Q000
uoodbooooooooooo
f(x)s(x) + g(2)t(x)
0000 s(z), t(r) e Qz]0O D0
a(x) = cs(x),
f(@)a(z) + g(x)
obooooooo
c-h(z) = f(z)a(z)h(x) + g(x)h(z)-b(x)
0000 Zz]0000 f(z)|g(@)h(z)00000
f(@)|e-h(x)
0000 f(x)0 primitive 0 0 00 O
f(@) [h(x)
00000000 ZR0000 P=(f(z)0000000000

00000 00000
x) = c-t(x) € 2],

(z)
()

o ol
QQDH

S o

(3) 000 y(x) € Z[z|O (Z/pZ)[x)]0000000000 () 000000000
g(@)h(z) € (p, f(x)), g(x) & (p, f(x))D00OO0O(Z/pZ)x|0000
g(2)h(z) € (f(2))
000000000 Z/pZ0O0O000 f(z)0 Z/pZz)]000000000000
f(x)1g(x)00 f(x)0g(x) 0000000000000 O0OO0O0O
f(2)a(z) +7(x)v(z) =1
0000 u(z), v(z) € Zz]OODOODO
h(x)=f(2)@(z)h(x) +7(x)h(z)T(x) € (f (2))
- h(z) € (p, f(z))
0000 Zz0000 P=(p, f(x)) 0000000000
(00DOoooooo)
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